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). Rakesh runs 4/3 times as fast

as Mukesh. In a race, if Rakesh
gives a lead of 60m to
Mukesh, find the distance
from the starting point where
both of them will meet.

TR, AFA F 4/3 AT dF
dzar & ww as # 3R
A, AHA F 60 Hex A
9%d &t §, 99 UREAF

¥ gt da HfFw et
ool

oA 240 m b) 230 m
c)210m d)220m
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2. ¢ of the marked price of an item

. 4 .. .
is equal to 5 of its cost price. If a

discount of 15% is given on its
sale, then what is the
approximate profit percentage
earned?

frelt avq & 3ifFa Fqea
mena: O

%laﬁswﬁr qr15%
i g & It 7, A i

ATST GTARrT SIS fharelr &7
a) 19.84% b) 23.63%
A21.43% d) 14.28%

[ 3



3. Match the following:

Column | Column Il & m—a C 1S L
i bﬁ+%= (a) ‘Ta (i) « (c), (i) & (e), (iii) < (a), (iv) < (b), (v) < (d)
w1l 2.c | - (i) & (c), (i) © (e), (iii) © (b), (iv) © (a), (v) < (d)
b d i) & (c), (ii) & (b), (iii) < (a), (iv) < (a), (v) < (d)
(i) & (d), (ii) < (e), (iii) < (a), (iv) < (b), (v) & (c)
m | 2+ | 1
w [ o,z [ be ) 9
b b ad ..
1) Axd- é
ol ] 2%
) -& 4
b




4. A data has highest value 120 and lowest
2‘0 7 (16’ g m!’ value 71. A frequency distribution in
7—9 descending order with [seven classes|is to
/ ,
= be constructed. The limits of the second
e, 01) class-interval shall be:

02 -] 20 UF HiFs F Iwaad AW 120 IR
AFTdd AT 71 @1 A FA A
Uo.é-'BJ" " 99 AT UF IRERAT §ed aer
I gl gRdT FE-aRe it "
G99 o g FT e
a)71and 78 b) 78 and 85
c) 113 and 120 /’f106 and 113
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Proportion of Populat
poverty line

ion below
Proportion of Population

V2x 6' 00 0.00

5. The given pie charts show the proportion of

population and the proportion of
population below poverty line of six towns
P, Q, R, S, T and U in 2018. Study the pie
charts and answer the question that follows.
If the population of town 'U'is 12,00,000,
then the population below poverty line of
town 'P' is:
feam s g9 3w 2018 # o A P,
Q R, S, T 3R U & eTeea FT 3T
At T YT @ A B e w7
T geATET 2 AT FT AT
3R yed H I
gieT |

gfe AT 'U' A STFEEAT 12,00,000 %,
ar eex ' dr Il Y@m & SR dr

SaaEaT fhaHr g2
a) 74,000 b) 68,000
c) 56,000 72,000

[ /



eight of a family of 4
he grandfather
and the gran mother come to visit
the family. Now the average weight
of the 6 members of the family is
48 kg. Find the average weight of
the grandparents (in kg).

@R & 4 FeEa H1 3Ed
R 45 fFeam B =T 3R
gy qRar @ e 3ma &1 39
@R & 6 T H1 IuEd
R 48 FFeams 31 arer-ardr 1
dwa AR (Frelame &) w g
AT |

a) 53 b) 52

¢) 51 A 54

[ 8

6. The average




7. Two persons A and B are

travelling with the speeds of
ratio 3: 4. A takes 30 minutes
more time than B to reach the
distance. Then find the time
taken by A to reach the
distance.

ar =afdqd A 3R B, 3:4 &

3eTaTe #msnaw
w® 8l A f@REa GED
Ugdsl A B 30 fAeie 3fO=
g A1 § A gt a%

¢

wgaa & AT A g@Err fomn
IAT AT AT T

&

dz Hours b) 1 Hour

c) 4 Hours d) Hours

[ ?




@=93+(@q=r)3+@=p)?
2. The value of (p2—q2)3+(q2—12)3+(1r2—p?)3
Wherep #q #r
P-9)%+(q-1)3+@-p)°
(p q2)3+(q _r2)3+(r2 2)3

A @45 )-p) ;;w Lgar
AED (D) i i
(P.;.LM (p+q+7)

is:

ST AT FIT g,

b) 1
d)o




In AABC,AD 1 BC and BE 1

BCX A_D_-_ A-Cx B€- (m Qﬂy\w&' AC,AD and BE intersect at F (inside
RO the triangle). If AB = 20 cm CD =
/;’Q’Z W ,56 4 cmand AD = 12 cm then what

is the length of BE?

E"UT" AMBC ®, AD L BC 3R BE 1

ACE, AoaﬁTBE FR (o &

37ex) ufaedg #ia &1 IR 4B =

20 @Y, cD = 4 ¥ 3R 4D =

B Ig b § ¢ 128 g, A BEH TS FAT &7
a) 8 b) 510

//a/{x/ﬁ d) 16




[0. What is the average of the sixty terms given

below?
c0323x, cos?30x
/sin?3x, ,sin?30x,
30 _ AT (4T ¢ |16 9aT & Atua 4 87
So "’i cos?x,cos?2x, cos?*3x, cos?30x
sin®x,sin?2x,sin®3x, _______ sin?30x,
a) 60 /ﬁﬁ).s
1 d) 30
+—t }
-1 0 3

| | 12



\) (20, Zl/&q)

[|. The area of a triangular field with

sides 220 m,231 mand 319m
is equal to 15 times the area of a
circular garden. What is the
diameter (in m) of the circular
garden?

220 #Hrex, 231 #Hex 3t 319
HieX 3 a PuEeR A
mmwmwﬁ#a?
&% & 15 m%w%l

?ﬁ-ﬂ? T F s (FHew
)a-'-!]T
a) 7V11 b) 147

S1avii d) 7v7

]
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2. The radius of a roller is 14 cm and its
length 20 cm. It takes 235 complete
revolutions to move once over to level a
playground. Find the area of the
playground. (Use n= 22/7)

TF Yo A B 14 Y qur d=rd
20 QA &1 T AT & AT B

:
o
3
¢

ﬁ

35

T HIfST)
a) 4136 cm?
b) 4136 x 103 cm?

c) 41360 cm?
4136 X 102 cm?

| | 14




12. The diameter of the base of a right-

1663.2 cm? 1665.2 cm?

1 circular cylinder is 12 cm and the height

{/ 25 of the cylinder is 2. 45 times the radius of

%X 6x6 X 6;(-2-&92 its base. Find the volume of the cylinder.
;7—_- l [Userr = g]

U TFEqH 99d & HUR F1 A

12 ¥ ¥ 3R doeT Y U, IEE

diogit S mme IR A Brear dr 2.45 e 71 AT

22
Uit deett | A2 | F HAGA AT PR [ = 2 AfFw
wit digpt | div. %Aufe }1636.2 cm? §1666.2 cm?




I4.The given table shows the marks
’ Marks

Student’s obtained out of 100 in mathematics
Name Obtained test by different students of class 10.
| Neha 75 Calculate the standard deviation in
26 : marks obtained by them.
|Zl> Priyanka 80 & 7§ aifo Fam 10 & e
| 9 67 _53| Babita 85 Sl @RI a1 & F 100
1 379 - F & uIcT e Fr g B
>akshi 60 3% CART Wied 3@ A ATE

Rosy 70 et # T |
Iz a) 8.20 8.60
l‘l,:l-»

156, 11\ ¢ X) 6.81 25 32
\in\z 1 | >34
™\ [y =4 S” |

]
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2 4hx-x-2-

) ool (x+?)’5' What is the HCF of(36)3x* + 5x% — 2x?),
21,7' +S5% -7 )=
?ll'l'gx-x-l)

@' B3 +9x* — 2x),GHU27x* — x)?

\~

36(3x* + 5x3 — 2x%), 9(6x + 4x? —
2x), 54(27x* —x) HT AGAH

T 87
a) 9x(x + 1) b) 9x(3x — 1)
Y18x(3x — 1) d)18x(x+ 1)
|gx’l_x3@,|> _§\ 5
- 6 4
30 2
;3 -

I—l 18



20m

2Sm 30m
2 4

Full— Y

16. Water is filled in a container in such a

manner that its volume doubles every 5
minutes. If it takes 30 minutes for the
container to be full, in how much time
will it be ong-fourth full ?

a) 7.5 min b) 15 min
20 min d) 17.5 min
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17 PQ is a diameter of a circle. M
and N are points on the opposite
sides of the diameter PQ, such
that ZPMN = 30°. R is a point
on the minor arc QN. Find the
measure of ZQRN (in degrees).

PQ U JH FT AW § | A
<13;ﬁnﬁk73#raiﬁmgnn3ﬁt
N 39 YR & & 2PMN = 30°
¢l RYY I QN W UF g B
LQRN “& @ (Reht &) TG

EnEp]
A 120 b) 135
<) 30 d) 95

| | 20



18. PQ is a chord of a circle with
centre O and M is any point
on the minor arc of circle. If
£PMQ = 136° then what
is the measure of LOQP?
PQ, %% O d UF I Hr
Sftar § 3R M. g F o
M W RE Rig ¥ AR
(PMQ = 136°, & dd
20QP &Y &Y F4T &7

46° b) 52°
c)88° d) 54°




Subject A B C D E
Students | (Out | (Out | (Out | (Out | (Out
of of of of of
75) | 80) | 100) | 50) | 150)
Lata 80 55 68 66 84
Rekha 68 |85 |8 |72 |92
Anuja 60 70 73 100 |78
Swati 64 65 80 96 80

UR *4\1

51y (80

8o tae ¢>

3

r—@_ﬂ of Marks Obtained by 4

Students in Five Subjects A, B, C, D and E
are given. The total marks obtained by
Swati in subjects A, B and C are what
percentage less than the total marks
obtained by Lata (in subjects B and C), by
Rekha (in subject E) and by Anuja (in
subject D)? % J-x3

ofg fwat A,B, C, D 3N E & 4 Bl
gaRT yIedT 3 & gfaea Re i €
Farfa garT faww A, B 3R ¢ & grea
Fd 3%, aa1 (AT B 30k ¢ ), Y@
(v £ #) 3R s (Rww b #)
GaRT 9Icd Fel Il ¥ fras wiaea
HH %‘?

a) 665% b 3%%
c) 45% 40%

| | 22




Saumnt
by e{a= lg—bxac/
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23



_ve 20, If g + f + g + 10000 = x then find
the value of x ?

lO'lfSqul .l./OOO 0%

gfe §+§+’—5‘+10000=x ar x

220 l T AT AT HITT?
[0,000 =S x a) 400000 %200000
c) 2400000 d) 2600000

| | 24
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240

2|. As observed from the top of a light

house, 120v/3 m above the sea
level, the angle of depression of a
ship sailing towards it changes
from 30° to 60°. The distance (in
m) travelled by the ship during
period of observation is:

dGur F wAg a9 @ 120\/_
X W TF oEE @Ed
MY & @ = &, sad 311T
STl aTel ST@Tol &l HdeTdHeT HI0T
30°F 60°H FEa SATaT g1 WaTor
I & R g qarT dF
#r % gt (Hex fFash & 2
a) 100 240

c) 150 d) 120

| | 25




22. What value must be given to *
to make 8597 x 65 exactly

divisible by 11?

7 8597 Y65 # 11 & qorm:

22+ X F F AT « F:1
\w AT T @l T1fRT?
9 7 b) 4
c) 2 d) 0




2. P is a twice as good a workman

as Q and they together finish a

piece of work in 40 days. In how

P 2 many days can P alone do the
same piece of work?

%ﬁw et a;r«'i‘ N 40
Wo = A W FIAT &1 P 3T
SUWL060 o wd wy Prwt Rt &

HT Fhal &7

a) 90 days b) 120 days

c) 75 days J6O days




24Y. Two dice are tossed. The
2 2, v I probability that the total

(l 2 @:"l) @6) (615) ;ffo;e]g‘ a%ge;uﬁmber is:
e @ :)) (2 3) (2.5) Gi6)  on > Hm%;'fgﬁ

3T Y T4 g
a) (1/6) (5/12)
) @,;) ) (1/2) d) (7/9)
TO'l'UJ oud Cawns
|+ 2+ L“‘ 6-&&‘ ,5 =D|XDL
3% E) X ¢=3<




25, A wall 10 m long, 5 m high and

(,\IO\M |D00O X -595\)( Z¢ 20 cm thick is to be constructed

= using bricks of dimensions

Beik, /26—9( PR K l/d 25 cm X 20 cm x 10 cm. How
many bricks are required?

25 @t x 20 @H x 10 FFA

Remt &Y S &1 ITANT

& 10 e @dfl, 5 HAex

4 3k 20 A AN wH

AR F1 FATr fFAT S 2

frdeY €t T ImaTFar &7
a) 2450 __)5/2000
c) 2500 d) 2050




26. In a right triangle ABC,BD is
perpendicular on hypotenuse
AC. If AC = 9cmand AD =
4 cm, then what is AB + BC
approximately equal to?
fordY @HIoT BosT ABC #,
S BD, 9Fd § 9% AC W |
Ifg AC = 9em 3R AD =
4cm, A AB + BC FI;HIA
C fFad TR 87
a)12 cm b)12.2 cm
c)12.4cm d)12.6 cm




Production (in lakh)
= = [ [ w w
(=] (V] (=] (V] o (V]

1]

o

B Fan (In lakhs) [ Cooler (In lakhs)

31 32

23

23

18

A IS IAA I NI I T I

1998

1999

2000
Year

2001

27. The following bar graph gives figures

for the production of fans and of
coolers by a large company in four
consecutive years.
Calculate the ratio of the number of
fans produced in 1998 to the number
of coolers produced in 2001.
s Rar s &s e AR
FARTT a8 A TFH 31 FY6ll GaRT
gal AR FeRl F e F IHHS
gelfdr §1
1998 # 3cufga v@l & wEdr
A 2001 #F eofea et
HEAT HT AT AT ARNT |
JB 18 b)32:18
c)23:21 d) 18 : 23

| | 31




28 A person marks the price of his
car 50% above the cost price.
He gives a discount of B% and
earns a profit of 10%. What is
the approximate value of B?
TH ogidd HTel HR &I
Hed, T AT @ 50%
0w 3ifFa T ¥ TE BY%
N Be aar 7 AR 10% &

AT AT AT & B &
AT AT fhaar & ?

_4Y/26.67 b) 29.67

c)21.33 d) 24.33




99. Find the value of co0s37°secl143°+
sin34° cosec146°
cos37° sec143° + sin34° cosec146° I

el arajaﬁrfsr& e (190-34)

/ Sec(1g0-37) d;__ (ot 21
xQ—Sa: %7)

I+ 1=0 ?\\

)

| | 33
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2 g R
g=h
m
' 8
6.

20 A solid metallic cube of side

6'ﬁcm, is melted and recast into
a cuboid of length 12 cm and
breadth 9 cm. What is the length
(in cm) of the longest diagonal of
the cuboid? {"i_

63V4 QY starT - btﬁ%r & TH
3 U # RuaE 12 a6
aFas 3 9 dFH = amen
UF OATH 1T ST g1 °elrs
& §a¥ d9 R i T«
(@ #) Fa7 82

a) 19 b) 18

c)15 J17

| | 34
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